TABULATION OF BIDS FOR: SAINT MARKS DRAINAGE IMPROVEMENTS

**BID TO BE OPENED: JULY 12, 2022 AT 2:00 PM (MST)** 

BID NUMBER: SW41-22

ITEM	DESCRIPTION	QTY	UNIT	ENGINEER'S ESTIMATE	ALLEN CONCRETE, LLC 3800 Hueco Club Rd. El Paso, Texas 79938	ZTEX CONSTRUCTION, INC. 1326 Henry Brennan Dr. El Paso, Texas 79936	CSA Constructors 1845 Northwestern Drive Ste.C El Paso, Texas 79912	Del Mar Contracting, Inc. 3550 Lee Blvd., Ste. E El Paso, Texas 79936		HAWK CONSTRUCTION 12779 Azogue Ave El Paso, Texas 79938
	Insurance, Bonds, and Move-In Related Expenses, Not to Exceed 5% of Bid Item Nos. 2 through 55. If Item No. 1 exceeds 5%, bid may be deemed non-responsive).	1	LS	\$112,802.00 TOTAL	\$80,053.00	\$60,750.00	\$100,000.00	\$115,000.00	\$116,641.46	\$29,000.00
2	Remove and Dispose of Asphaltic Pavement and crushed stone base course, including all material & labor and all related appurtenances. Complete in Place.	860	SY	\$15.00 UNIT \$12,900.00 TOTAL	\$1.90 \$1,634.00	\$9.00 \$7,740.00	\$10.00 \$8,600.00	\$7.50 \$6,450.00	\$11.00 \$9,460.00	\$18.90 \$16,254.00
3	Remove and Dispose of Concrete Curb & Gutter, including all material & labor and all related appurtenances. Complete in Place.	180	LF	\$10.00 UNIT \$1,800.00 TOTAL	\$2.50 \$450.00	\$7.00 \$1,260.00	\$6.70 \$1,206.00	\$5.00 \$900.00		\$14.25 \$2,565.00
4	Remove and Dispose of Concrete Flume, including all material & labor and all related appurtenances. Complete in Place.	140	SY	\$17.50 UNIT \$2,450.00 TOTAL	\$22.50 \$3,150.00	\$21.00 \$2,940.00	\$46.90 \$6,566.00	\$25.00 \$3,500.00		\$27.00 \$3,780.00
5	Remove and Dispose of Guard Rail, including all material & labor and all related appurtenances. Complete in Place.	50	LF	\$30.00 UNIT \$1,500.00 TOTAL	\$12.00 \$600.00	\$40.00 \$2,000.00	\$20.00 \$1,000.00	\$4.00 \$200.00		\$27.00 \$1,350.00
6	Remove and Dispose of Loose Rock Rip-Rap, including all material & labor and all related appurtenances. Complete in Place.	300	SY	\$12.50 UNIT \$3,750.00 TOTAL	\$86.00 \$25,800.00	\$7.00 \$2,100.00	\$7.81 \$2,343.00	\$12.00 \$3,600.00		
7	Remove and Dispose of Mortared Rock Rip-Rap, including all material & labor and all related appurtenances. Complete in Place.	32	SY	\$15.00 UNIT \$480.00 TOTAL	\$22.50 \$720.00	\$67.00 \$2,144.00	\$13.40 \$428.80		1	\$64.0 \$2,048.0
8	Remove and Dispose of R.C.P. Anchor Collar, including all material & labor and all related appurtenances. Complete in Place.	1	EA	\$1,000.00 TOTAL	\$1,800.00	\$867.00	\$1,340.00	\$450.00	\$1,650.00	\$3,000.0

# TABULATION OF BIDS FOR: SAINT MARKS DRAINAGE IMPROVEMENTS

BID TO BE OPENED: JULY 12, 2022 AT 2:00 PM (MST)

BID NUMBER: SW41-22

Prepared By:

Deviewed But

200

Date: 7/27/22

					ALLEN CONCRETE, LLC	ZTEX CONSTRUCTION, INC.	CSA Constructors	Del Mar Contracting, Inc.	Black Stallion Contractors Inc	HAWK CONSTRUCTION
				ENGINEER'S	3800 Hueco Club Rd.	1326 Henry Brennan Dr.	1845 Northwestern Drive Ste.C	3550 Lee Blvd., Ste. E	5450 Hurdi Pl. Suite E	12779 Azogue Ave.
ITEM	DESCRIPTION	QTY	UNIT	ESTIMATE	El Paso, Texas 79938	El Paso, Texas 79936	El Paso, Texas 79912	El Paso, Texas 79936	El Paso, Texas 79912	El Paso, Texas 79938
9	Remove and Dispose of R.C.P. (CL III) (48 IN), including all material & labor and all related appurtenances. Complete in Place.	130	LF	\$75.00 UNIT \$9,750.00 TOTAL	\$25.00 \$3,250.00	\$30.00 \$3,900.00	\$73.00 \$9,490.00	\$31.00 \$4,030.00	\$68.20 \$8,866.00	\$40.00 \$5,200.00
10	Remove and Dispose of C.M.P. (30 IN), including all material & labor and all related appurtenances. Complete in Place.	450	LF	\$45.00 UNIT \$20,250.00 TOTAL	\$25.00 \$11,250.00	\$30.00 \$13,500.00	\$73.00 \$32,850.00	\$31.00 \$13,950.00	\$52.80 \$23,760.00	\$46.00 \$20,700.00
11	Abandoned In Place and Fill Existing Pipe (48 IN), including all material & labor and all related appurtenances. Complete in Place.	190	CY	\$200.00 UNIT \$38,000.00 TOTAL	\$18.50 \$3,515.00	\$198.00 \$37,620.00	\$154.00 \$29,260.00	\$140.00 \$26,600.00	\$132.00 \$25,080.00	\$225.00 \$42,750.00
12	Abandoned In Place and Fill Existing Pipe (30 IN), including all material & labor and all related appurtenances. Complete in Place.	40	CY	150 UNIT \$6,000.00 TOTAL	\$18.50 \$740.00	\$247.00 \$9,880.00	\$154.00 \$6,160.00	\$140.00 \$5,600.00	\$132.00 \$5,280.00	\$250.00 \$10,000.00
13	Remove and Dispose of Existing Manhole, including all material & labor and all related appurtenances. Complete in Place.	2	EA	\$3,000.00 UNIT \$6,000.00 TOTAL	\$800.00 \$1,600.00	\$1,200.00 \$2,400.00	\$3,350.00 \$6,700.00	\$3,500.00 \$7,000.00	\$1,100.00 \$2,200.00	\$3,800.00 \$7,600.00
14	Abandoned In Place and Fill Existing Manhole, including all material & labor and all related appurtenances.  Complete in Place.	1	EA	\$1,000.00 TOTAL	\$500.00	\$1,068.00	\$2,010.00	\$1,500.00	\$1,430.00	\$2,000.00
15	Remove and Dispose of Existing Inlet, including all material & labor and all related appurtenances. Complete in Place.	3	EA	\$3,000.00 UNIT \$9,000.00 TOTAL	\$1,200.00 \$3,600.00	\$1,067.00 \$3,201.00	\$3,350.00 \$10,050.00	\$2,500.00 \$7,500.00		\$3,200.00 \$9,600.00
16	Remove and Dispose of Existing Thrust Block, including all material & labor and all related appurtenances. Complete in Place.	1	EA	\$6,000.00 TOTAL	\$1,500.00	\$2,358.00	\$7,370.00	\$5,000.00	\$2,200.00	\$3,400.00
17	Remove and Dispose of Existing Headwall, including all material & labor and all related appurtenances. Complete in Place.	1	EA	\$5,000.00 TOTAL	\$1,800.00	\$2,200.00	\$4,020.00	\$750.00	\$2,200.00	\$4,000.00

TABULATION OF BIDS FOR: SAINT MARKS DRAINAGE IMPROVEMENTS

**BID TO BE OPENED: JULY 12, 2022 AT 2:00 PM (MST)** 

BID NUMBER: SW41-22

שוט	140MDL11. 5W41-22									
					ALLEN CONCRETE, LLC	ZTEX CONSTRUCTION, INC.	CSA Constructors	Del Mar Contracting, Inc.	Black Stallion Contractors Inc	HAWK CONSTRUCTION
ITEN	M DESCRIPTION	QTY	LIMIT	ENGINEER'S ESTIMATE	3800 Hueco Club Rd. El Paso, Texas 79938	1326 Henry Brennan Dr. El Paso, Texas 79936	Ste.C El Paso, Texas 79912	3550 Lee Blvd., Ste. E El Paso, Texas 79936	5450 Hurdi Pl. Suite E El Paso, Texas 79912	12779 Azogue Ave. El Paso, Texas 79938
IIEN	DESCRIPTION	QII	UNII	ESTIMATE	ELF aso, Texas 79900	Errado, roxad rodos				
18	Remove and Dispose of Existing Concrete Apron, including all material & labor and all related appurtenances. Complete in Place.	55	SY	\$10.00 UNIT \$550.00 TOTAL	\$22.50 \$1,237.50	\$54.00 \$2,970.00	\$24.00 \$1,320.00	\$20.00 \$1,100.00	\$16.50 \$907.50	\$18.00 \$990.00
19	Remove and Dispose of Rockwall and Footing, including all material & labor and all related appurtenances.  Complete in Place.	50	LF	\$35.00 UNIT \$1,750.00 TOTAL	\$24.00 \$1,200.00	\$31.00 \$1,550.00	\$33.50 \$1,675.00	\$25.00 \$1,250.00	\$16.50 \$825.00	\$52.00 \$2,600.00
20	Remove and Replace of Landscape Rock, including all material & labor and all related appurtenances. Complete in Place.	40	SY	\$100.00 UNIT \$4,000.00 TOTAL	\$116.00 \$4,640.00	\$40.00 \$1,600.00	\$60.00 \$2,400.00	\$42.00 \$1,680.00	\$38.50 \$1,540.00	\$105.00 \$4,200.00
21	Remove and Replace of Irrigation Lines, including all material & labor and all related appurtenances. Complete in Place.	560	LF	\$10.00 UNIT \$5,600.00 TOTAL	\$12.00 \$6,720.00	\$27.00 \$15,120.00	\$26.13 \$14,632.80	\$27.00 \$15,120.00		\$27.00 \$15,120.00
22	Remove and Replace of Oleander Shrubs, including all material & labor and all related appurtenances. Complete in Place.	58	EA	\$50.00 UNIT \$2,900.00 TOTAL	\$231.00 \$13,398.00	\$55.00 \$3,190.00	\$134.00 \$7,772.00	\$75.00 \$4,350.00		\$150.00 \$8,700.00
23	Trench Excavation Protection: Trench Box Method or Shoring, Sheeting, and Bracing Methods.	2,815	LF	\$6.00 UNIT \$16,890.00 TOTAL	\$38.00 \$106,970.00	\$4.00 \$11,260.00	\$2.68 \$7,544.20	\$3.00 \$8,445.00		\$4.00 \$11,260.00
24	Earthworks (Cut to Fill), including all material & labor and all related appurtenances. Complete in Place.	7,265	CY	\$15.00 UNIT \$108,975.00 TOTAL	\$21.50 \$156,197.50	\$14.00 \$101,710.00	\$9.38 \$68,145.70	\$9.50 \$69,017.50	l ·	\$15.65 \$113,697.25
25	Earthworks (Cut to Export), including all material & labor and all related appurtenances. Complete in Place.	1,700	CY	\$20.00 UNIT \$34,000.00 TOTAL	\$33.00 \$56,100.00	\$10.00 \$17,000.00	\$14.07 \$23,919.00	\$14.00 \$23,800.00	1	\$26.00 \$44,200.00
26	Furnish and Install RC Pipe (CL III) (72 IN) Stormwater Line, installed with fittings and accessories in trench, including appurtenances. Complete in Place.	1,395	LF	\$700.00 UNIT \$976,500.00 TOTAL	\$461.00 \$643,095.00	\$631.00 \$880,245.00	\$577.00 \$804,915.00	\$700.00 \$976,500.00		\$666.00 \$929,070.00

TABULATION OF BIDS FOR: SAINT MARKS DRAINAGE IMPROVEMENTS

BID TO BE OPENED: JULY 12, 2022 AT 2:00 PM (MST)

BID NUMBER: SW41-22

					ALLEN CONCRETE, LLC	ZTEX CONSTRUCTION, INC.	CSA Constructors	Del Mar Contracting, Inc.	Black Stallion Contractors Inc	HAWK CONSTRUCTION
					0000 Hussa Olish Dd	1326 Henry Brennan Dr.	1845 Northwestern Drive Ste.C	3550 Lee Blvd., Ste. E	5450 Hurdi Pl. Suite El	12779 Azogue Ave.
ITEM	DECORIDEION	QTY	LINUT	ENGINEER'S	3800 Hueco Club Rd. El Paso, Texas 79938	El Paso, Texas 79936	El Paso, Texas 79912	El Paso, Texas 79936	El Paso, Texas 79912	El Paso, Texas 79938
ITEM		UIT	UNIT	ESTIMATE	El Paso, Texas 79936	ETT aso, Texas 75500	211 030, 10,00 70012	Li i doo, i oxao i ooo		
27	Furnish and Install RC Pipe (CL III) (48 IN) Stormwater Line, installed with fittings and accessories in trench, including appurtenances. Complete in Place.	1,285	LF	\$345.00 UNIT \$443,325.00 TOTAL	\$229.00 \$29 <b>4,</b> 265.00	\$308.00 \$395,780.00	\$305.00 \$391,925.00	\$376.00 \$483,160.00	\$349.80 \$449,493.00	\$346.00 \$444,610.00
28	Furnish and Install RC Pipe (CL III) (36 IN) Stormwater Line, installed with fittings and accessories in trench, including appurtenances. Complete in Place.	85	LF	\$250.00 UNIT \$21,250.00 TOTAL	\$155.00 \$13,175.00	\$227.00 \$19,295.00	\$217.00 \$18,445.00	\$210.00 \$17,850.00	\$244.20 \$20,757.00	\$250.00 \$21,250.00
29	Furnish and Install RC Pipe (CL III) (30 IN) Stormwater Line, installed with fittings and accessories in trench, including appurtenances. Complete in Place.	50	LF	\$200.00 UNIT \$10,000.00 TOTAL	\$127.00 \$6,350.00	\$201.00 \$10,050.00	\$183.00 \$9,150.00	\$175.00 \$8,750.00	\$242.00 \$12,100.00	\$260.00 \$13,000.00
30	Furnish and Install Thrust Block Structure, including all material & labor and all related appurtenances. Complete in Place.	1	EA	\$50,000.00 TOTAL	\$23,500.00	\$28,500.00	\$53,600.00	\$20,000.00	\$13,200.00	\$83,700.00
31	Furnish and Install Stormwater Manhole Type "S-B" (72 IN) (Precast), including all material & labor and all related appurtenances. Complete in Place.	3	EΑ	\$12,000.00 UNIT \$36,000.00 TOTAL	\$8,000.00 \$24,000.00	\$9,270.00 \$27,810.00	\$19,095.00 \$57,285.00			\$14,500.00 \$43,500.00
32	Furnish and Install Modified Junction Box MH-1 (Cast- In Place), including all material & labor and all related appurtenances. Complete in Place.	1	EA	\$20,000.00 TOTAL	\$28,810.00	\$29,130.00	\$23,450.00	\$34,000.00	\$29,700.00	\$30,500.00
33	Furnish and Install Modified Junction Box MH-2 (Cast-In Place), including all material & labor and all related appurtenances. Complete in Place.	1	EA	\$20,000.00 TOTAL	\$27,711.00	\$28,765.00	\$23,450.00	\$35,000.00	\$29,700.00	\$30,500.00
34	Furnish and Install Junction Box (Varies) (Cast-In-Place), including all material & labor and all related appurtenances. Complete in Place.	3	EA	\$15,000.00 UNIT \$45,000.00 TOTAL	\$22,300.00 \$66,900.00	\$17,015.00 \$51,045.00		\$17,000.00 \$51,000.00		\$27,800.00 \$83,400.00
35	Furnish and Install Junction Box (84 IN), including all material & labor and all related appurtenances. Complete in Place.	3	EA	\$15,000.00 UNIT \$45,000.00 TOTAL	\$14,200.00 \$42,600.00	\$20,116.00 \$60,348.00		\$12,000.00 \$36,000.00		\$21,500.00 \$64,500.00

TABULATION OF BIDS FOR: SAINT MARKS DRAINAGE IMPROVEMENTS

**BID TO BE OPENED: JULY 12, 2022 AT 2:00 PM (MST)** 

BID NUMBER: SW41-22

Reviewed By:

Reviewed By:

Reviewed By:

Reviewed By:

Reviewed By:

BID	NUMBER: SW41-22								Dat	e: 1'41144
					ALLEN CONCRETE, LLC	ZTEX CONSTRUCTION, INC.	CSA Constructors	Del Mar Contracting, Inc.	Black Stallion Contractors Inc	HAWK CONSTRUCTION
				ENGINEER'S	3800 Hueco Club Rd.	1326 Henry Brennan Dr.	1845 Northwestern Drive Ste.C	3550 Lee Blvd., Ste. E	5450 Hurdi Pl. Suite E	12779 Azogue Ave.
ITEN	DESCRIPTION	QTY	UNIT	ESTIMATE	Ei Paso, Texas 79938	El Paso, Texas 79936	El Paso, Texas 79912	El Paso, Texas 79936		El Paso, Texas 79938
36	Furnish and Install Off-Street Inlet (3-Grate) Junction Box, including all material & labor and all related appurtenances. Complete in Place.	1	EA	\$20,000.00 TOTAL		\$22,435.00	\$12,730.00	\$23,000.00	\$11,880.00	\$30,300.00
37	Furnish and Install Off-Street Inlet (5-Grate), including all material & labor and all related appurtenances. Complete in Place.	1	EA	\$10,000.00 TOTAL	\$10,500.00	\$12,350.00	\$14,740.00	\$12,000.00	\$12,100.00	\$18,900.00
38	Furnish and Install Type III Inlet (3-Grate), including all material & labor and all related appurtenances. Complete in Place.	1	EA	\$15,000.00 TOTAL	\$9,700.00	\$10,720.00	\$11,390.00	\$12,000.00	\$12,100.00	\$25,500.00
39	Furnish and Install Concrete Flume, including all material & labor and all related appurtenances. Complete in Place.	21	CY	\$550.00 UNIT \$11,550.00 TOTAL	\$785.00 \$16,485.00	\$461.00 \$9,681.00	\$1,072.00 \$22,512.00	\$750.00 \$15,750.00		\$960.00 \$20,160.00
40	Furnish and Install Concrete Rip Rap, including all material & labor and all related appurtenances. Complete in Place.	75	CY	\$100.00 UNIT \$7,500.00 TOTAL	\$500.00 \$37,500.00	\$500.00 \$37,500.00	\$1,072.00 \$80,400.00	\$540.00 \$40,500.00		\$690.00 \$51,750.00
41	Furnish and Install Loose Rock Rip Rap (8 IN to 12 IN),	150	SY							
	including all material & labor and all related appurtenances. Complete in Place.			\$75.00 UNIT \$11,250.00 TOTAL	\$116.00 \$17,400.00	\$29.00 \$4,350.00		\$32.00 \$4,800.00	1	\$65.00 \$9,750.00
42	Furnish and Install No Trespassing Warning Sign, including all material & labor and all related appurtenances. Complete in Place.	11	EA	\$250.00 UNIT \$2,750.00 TOTAL	\$950.00 \$10,450.00	\$135.00 \$1,485.00	\$402.00 \$4,422.00	\$350.00 \$3,850.00		\$770.00 \$8,470.00
43	Furnish and Install Pond Depth Gauge (39 FT Galvanized Steel Pole) (30 FT Depth Markings), including all material & labor and all related appurtenances. Complete in Place.	1	EA	\$5,000.00 TOTAL	\$12,600.00	\$4,355.00	\$8,710.00	\$4,000.00	\$11,550.00	\$8,900.00
44	Furnish and Install 8 FT High Rockwall (From Highest Side), including all material & labor and all related appurtenances. Complete in Place.	30	PR	\$265.00 UNIT \$7,950.00 TOTAL	\$290.00 \$8,700.00	\$247.00 \$7,410.00		\$210.00 \$6,300.00		\$325.00 \$9,750.00

TABULATION OF BIDS FOR: SAINT MARKS DRAINAGE IMPROVEMENTS

BID TO BE OPENED: JULY 12, 2022 AT 2:00 PM (MST)

BID NUMBER: SW41-22

Prepared By:

Reviewed By:

Reviewed By:

Date: 7/27/22

					ALLEN CONCRETE, LLC	ZTEX CONSTRUCTION, INC.	CSA Constructors	Del Mar Contracting, Inc.	Black Stallion Contractors Inc	HAWK CONSTRUCTION
				ENGINEER'S	3800 Hueco Club Rd.	1326 Henry Brennan Dr.	Ste.C	3550 Lee Blvd., Ste. E	5450 Hurdi Pl. Suite E	12779 Azogue Ave.
ITEN	I DESCRIPTION	QTY	UNIT	ESTIMATE	El Paso, Texas 79938	El Paso, Texas 79936	El Paso, Texas 79912	El Paso, Texas 79936	El Paso, Texas 79912	El Paso, Texas 79938
45	Furnish and Install Compacted Millings (3 IN), including all material & labor and all related appurtenances. Complete in Place.	7,000	SY	\$10.00 UNIT \$70,000.00 TOTAL	\$18.00 \$126,000.00	\$18.00 \$126,000.00	\$13.40 \$93,800.00	\$14.00 \$98,000.00	\$16.50 \$115,500.00	\$8.35 \$58,450.00
46	Furnish and Install Hot Mix Asphaltic Pavement, including all material & labor and all related appurtenances. Complete in Place.	850	SY	\$35.00 UNIT \$29,750.00 TOTAL	\$16.50 \$14,025.00	\$20.00 \$17,000.00	\$32.00 \$27,200.00	\$18.00 \$15,300.00	\$23.10 \$19,635.00	\$32.75 \$27,837.50
47	Furnish and Install Continuous Reinforced Concrete Pavement (6 IN), including all material & labor and all related appurtenances. Complete in Place.	15	CY	\$85.00 UNIT \$1,275.00 TOTAL	\$765.00 \$11,475.00	\$554.00 \$8,310.00	\$1,139.00 \$17,085.00		\$715.00 \$10,725.00	\$850.00 \$12,750.00
48	Furnish and Install Crushed Stone Base Course (6 IN), including all material & labor and all related appurtenances. Complete in Place.	950	SY	\$20.00 UNIT \$19,000.00 TOTAL	\$14.50 \$13,775.00	\$12.00 \$11,400.00	\$15.41 \$14,639.50	\$10.00 \$9,500.00	\$11.00 \$10,450.00	\$16.50 \$15,675.00
49	Furnish and Install Concrete Curb and Gutter (6 IN), including all material & labor and all related appurtenances. Complete in Place.	80	LF	\$25.00 UNIT \$2,000.00 TOTAL	\$55.00 \$4,400.00	\$24.00 \$1,920.00	\$29.00 \$2,320.00	\$15.00 \$1,200.00	\$19.80 \$1,584.00	\$54.00 \$4,320.00
50	Furnish and Install Guard Rail, including all material & labor and all related appurtenances. Complete in Place.	144	LF	\$100.00 UNIT \$14,400.00 TOTAL	\$70.00 \$10,080.00	\$134.00 \$19,296.00	\$134.00 \$19,296.00		\$110.00 \$15,840.00	\$65.00 \$9,360.00
51	Provide and Maintain Temporary Construction Chain Link Fence and Screen, including all material and labor and all related appurtenances. Complete in Place.	900	LF	\$10.00 UNIT	\$16.75	\$74.00 \$66,600.00	\$20.10 \$18,090.00	\$5.50 \$4,950.00		\$25.50 \$22,950.00
52	Provide and Maintain Approved Water Passage During the Course of Construction. Complete in Place.	1	LS	\$9,000.00 TOTAL \$20,000.00 TOTAL	\$15,075.00 \$15,600.00	\$50,000.00	\$40,200.00		, ,	\$10,500.00
53	Provide and Maintain SWPPP. Complete in Place.	1	LS	\$10,000.00 TOTAL	\$39,800.00	\$22,900.00	\$16,750.00	\$7,500.00	\$22,000.00	\$57,600.00
54	Provide and Maintain Approved Traffic Control, within City Right-of-way. Complete in Place.	6 N	MONTH	\$3,500.00 UNIT \$21,000.00 TOTAL	\$4,200.00 \$25,200.00	\$2,667.00 \$16,002.00	\$4,690.00 \$28,140.00	\$1,800.00 \$10,800.00		\$8,950.00 \$53,700.00

TABULATION OF BIDS FOR: SAINT MARKS DRAINAGE IMPROVEMENTS

BID TO BE OPENED: JULY 12, 2022 AT 2:00 PM (MST)

BID NUMBER: SW41-22

							_				
UCTION	HAWK CONSTR	Black Stallion Contractors Inc	Del Mar Contracting, Inc.	CSA Constructors 1845 Northwestern Drive	ZTEX CONSTRUCTION, INC.	ALLEN CONCRETE, LLC					
gue Ave.	12779 Azo	5450 Hurdi Pl. Suite E	3550 Lee Blvd., Ste. E	Ste.C	1326 Henry Brennan Dr.	3800 Hueco Club Rd.	ENGINEER'S				
as 79938	El Paso, Tex	El Paso, Texas 79912	El Paso, Texas 79936	El Paso, Texas 79912	El Paso, Texas 79936	El Paso, Texas 79938	ESTIMATE	UNIT	QTY	TEM DESCRIPTION	ITEM
2,900.00	9	\$6,050.00	\$1,500.00	\$3,350.00	\$2,000.00	\$2,500.00	\$2,000.00 TOTAL	LS	1	Video Tape Pipeline Route, Before and After	55
8,516.75	\$2,57		\$2,367,902.50 Bidder's Total: \$2,363,902.50		\$2,293,010.00	\$2,081,396.00	\$2,368,847.00 TOTAL			Construction.  TOTAL BID PRICE (ITEMS 1 THROUGH 55)	
	1	1		RESIDENT BIDDER BID BOND PROVIDED		RESIDENT BIDDER BID BOND PROVIDED					